


2. o5 3 HEA ALl A2

@ (-3)x(+4)=1 @ (-3)x (-4) x (+1) = -6
® (-6)x5x(-1)=30 @ (-3)x(-4)x1=-12

® (+4) x (+2) = -8



ohg % A 2

7710 of 744 7P 2

@ (+4)x (=7)

@ (-33)+(-3) ® (4+52) = (+4)

[o
K

A= =2



4. Ys T 3A X2 A7
@ (+12) X (+5) = 60 @ (-2)x (=30) = 60
® (+4) x (-13) = -52 @ (-22) x (+4) = -88

® (-8)x(-9) =-T2
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6.

Ht=A) A4 227



(+4) x (=2) °]al, b = (-2) x 3x 1 o]t} o|w ax b 9]

X ,m.b
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8.

® (-1)xa>0
® axb<0

® (-2)xaxb<0



™o



10.

% 3% a, b o] Bakol axb >0 ol T}, P LL

@ (-1)xa<0 @ b<0

® a+b>0 @ a<0°Hb<0
B a=b>0






12. 129 9454, 2 ALEp T o, axb 9 FL?

© @ @% @ ®

N | =
Wl
e
A~ o






“\"20

) o gt o

1
— . -1
® @ 30 ®



T 1x%x3%5EXTx---%190



